
 

f(x
) = x

 + 1 

g(x
) = √

𝑥
 

 

F
ind

 th
e
 d

om
ain 

 of f(g(x
)). 

F
or a(x

):  if th
e
 d

om
ain  

is x
 < 4

 and
 th

e
 range

 is  

y > 0
, find

 th
e
 d

om
ain  

and
 range

 for a
-1(x

). 

F
ind

 th
e
 inve

rse
: 

 

f(x
) = 2

x
 + 5

 

 

f(x
) = 4

x
 

g(x
) = x

 + 2
 

 

F
ind

 f(g(x
)). 

 

E
N

D
 

F
or a(x

):  if th
e
 d

om
ain  

is ℝ
 and

 th
e
 range

 is  

y ≥ 2
, find

 th
e
 d

om
ain 

and
 range

 of a
-1(x

). 

 

f(x
) = √

𝑥
 – 1 

 

F
ind

 f
-1(x

).  

f(x
) = √

𝑥
 

g(x
) = x

2 + x
 

 

F
ind

 g(f(x
)). 

  

 
 Match this box 



 
 

4
x
 +

 8
 

  
T

u
rn

o
v
e
r 

C
a
rd

s
 S

e
t 
#
1
 

f-1
(x

) 
= 

𝑥
−

5

2
 

T
u

rn
o
v
e
r 

C
a
rd

s
 S

e
t 
#
1
 

f-1
(x

)=
(x

+1
)2

 

 T
u

rn
o
v
e
r 

C
a
rd

s
 S

e
t 

#
1
 

x
 ≥

 0
 

T
u

rn
o
v
e
r 

C
a
rd

s
 S

e
t 
#
1
 

 

T
u

rn
o
v
e
r 

C
a
rd

s
 S

e
t 
#
1
 

1 

T
u

rn
o
v
e
r 

C
a
rd

s
 S

e
t 
#
1
 

d
om

ai
n 

  
x
 >

 0
 

ra
ng

e
  

y 
< 

4
 

T
u

rn
o
v
e
r 

C
a
rd

s
 S

e
t 
#
1
 

S
ta

rt
 

T
u

rn
o
v
e
r 

C
a
rd

s
 S

e
t 
#
1
 

 

T
u

rn
o
v
e
r 

C
a
rd

s
 S

e
t 
#
1
 

2
 

T
u

rn
o
v
e
r 

C
a
rd

s
 S

e
t 
#
1
 

𝑥
+

 √
𝑥

 

T
u

rn
o
v
e
r 

C
a
rd

s
 S

e
t 
#
1
 

d
om

ai
n 

 x
 ≥

 2
 

ra
ng

e
  

ℝ
  

T
u

rn
o
v
e
r 

C
a
rd

s
 S

e
t 
#
1
 

Match this box 



 


